MAST ARM MOUNTING HARDWARE

TENON MOUNT

(2) U-BOLT SADDLE
(4) 3/8-16 x 3" HEX BOLT
(4) 3/8 SPLIT LOCK WASHER

TENON CAP

MAST ARM TENON
2" SCHED-40 (2.38" O.D.)

TENON CLAMP SADDLE
CAST 356 ALUMINUM

SWIVEL
CAST 356
ALUMINUM

(2) 3/8-16 BOLT
(2) 3/8 FLAT WASHER
(2) 3/8 SPLIT LOCK WASHER

(2) 5/16-
(2) U-BOLT SADDLE
(4) 5/16

TORQUE CHART
FASTENER SIZE TORQUE
5/16" 10 FT-LBS
3/8" 15 FT-LBS
1/2" 15 FT-LBS

(815) 229-3292
f. (815) 229-7082

2135 15th St. Box 6106
Rockford, IL 61125

www.SkyBracket.com

e’

18 U-BOLT
KEPS NUTS

REV. 11/2011



	Sheet1
	Drawing View1


